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1 [EXH E=Fis 1052 M 2259| fEAEEHE| /KH R6.12.1| R11.11.30 5%
2 |BEHM B 1066 M 1607\ EAEMEE| KHE R6.12.1| R11.11.30 5%
3 |BEM B 1040 M 2133|fEAEEHE| /KH R6.12.1| R11.11.30 5%
4 |EEHT B 1077 M 13| EFAEEE| KHE R6.12.1| R11.11.30 5%
5 |BEM B 1191 M 2391|fEAEEHE| /KH R6.12.1| R11.11.30 5%
6 |EEM B 1079 M 1017\ EAEMEE| KE R6.12.1| R11.11.30 5%
7 |EEM B 1011 M 2878|fEAEEHE| /KH R6.12.1| R11.11.30 5%
8 |EEM B 1162 M 3375|fEAEEHE| /KH R6.12.1| R11.11.30 5%
9 |BEHM B 1179 M 3346\ EAEEHE| /KH R6.12.1| R11.11.30 5%
10 | EHT E=Fis 1003 M 1654\ EAEMEHE| KE R6.12.1| R11.11.30 5%
11 |EEH E=Fis 1182 M 3134|fEAEEHE| /KH R6.12.1| R11.11.30 5%
12 |EEH E=Fis 1125 M 1293| EAEMEE| KHE R6.12.1| R11.11.30 5%
13 |EEH E=Fis 1154 M 2,726\ fEREEHE| /KH R6.12.1| R11.11.30 5%
14 |EEH E=Fis 1137 M 3207|fEAEEHE| /KH R6.12.1| R11.11.30 5%
15 |EEHT E=Fis 1176 M 3058|fEAEEHE| /KH R6.12.1| R11.11.30 5%
16 |ZEEHT E=Fis 949 M 1669 EAEMEE| KHE R6.12.1| R11.11.30 5%
17 |EEH E=Fis 1140 M 310 fEAEEHE| /KH R6.12.1| R11.11.30 5%
18 |EEHT E=Fis 200-1 M 188| LA EHE| KHE R6.12.1| R11.11.30 5%
19 |EEH E=Fis 889-1 M 13| EFAEEHE| KHE R6.12.1| R11.11.30 5%
20 (B EHT E=Fis 889-2 M 96| ERAEEHE| KH R6.12.1| R11.11.30 5%
21 [EEHT E=Fis 935 M 2,950 fEAEEHE| /KH R6.12.1| R11.11.30 5%
22 |EEHT E=Fis 1153 M 3032 fEAEEHE| /KH R6.12.1| R11.11.30 5%
23 |[EEHT E=Fis 1180 M 1649\ EAEREE| KHE R6.12.1| R11.11.30 5%
24 |EEHT 4] 1699 M 1634 Ef&iE JKH R6.12.1| R11.11.30 5%
25 |EEHT 4] 1358 M 495 EfEHE JKH R6.12.1| R11.11.30 5%
26 |EEHT 4] 1512 M 3,145 EfgiE JKH R6.12.1| R11.11.30 5%
27 |EEHT 4] 1564 M 746| EfEHE JKH R6.12.1| R11.11.30 5%
28 |EEHT 4] 1763 M 2237 EfgiE JKH R6.12.1| R11.11.30 5%
29 |EEHT 4] 1794 M 3,640 EfgiE JKH R6.12.1| R11.11.30 5%
30 [EEHT 4] 1818 M 1484 EfEiE JKH R6.12.1| R11.11.30 5%
31 [EEHT F7) = 3983 M 1959 Ef&iE JKH R6.12.1| R16.11.30 1048
32 |[EEHT 5= 4005 M 2,675 EfgiE JKH R6.12.1| R16.11.30 1048
33 [EEHT /A 1403 M 2,866| EfaiE JKH R6.12.1| R16.11.30 1048
34 (EEHT /A 1403-1 M 1,029 Ef&iE JKH R6.12.1| R16.11.30 1048
35 [EEHT /A 824 M 1,719 EfhiE JKH R6.12.1| R16.11.30 1048
36 [EEHT /A 825 M 1,381 Ef&iE JKH R6.12.1| R16.11.30 1048
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37 [EEHT N 826 H 390 EfEtE b/ R6.12.1| R16.11.30 104
38 | EHT B 331 H 4207 EfE JKH R6.12.1| R16.11.30 104
39 |EEHT B 330 M 2023 EifE JKH R6.12.1| R16.11.30 104
40 B EHT B3] 1524 H 2997 EfE JKH R6.12.1| R11.11.30 54
41 [EEHT B3] 1525 H 1613 EfE 7K H R6.12.1| R11.11.30 54
42 B EHT B3] 1655 H 1851 &g b/ R6.12.1| R11.11.30 54
43 B EHT Fo) = 3955 H 2387|fEAEEE| KH R6.12.1| R11.11.30 54
44 | EHT Fo) = 3963 H 2,985\ fFAEEHE| /KH R6.12.1| R11.11.30 54
45 | EHT Fo) = 4055 H 2997|fEAEEHE| KH R6.12.1| R11.11.30 54
46 % EHT Fo) = 4056 H 2512\ fEAEEHE| KH R6.12.1| R11.11.30 54
47 B EHT thzt 6076 H 3878|fEAEEHE| /KH R6.12.1| R8.11.30 26
48 | EHT thzt 5882 H 2973|fEAEEHE| /KH R6.12.1| R9.11.30 3
49 | EHT thzt 6053 H 2617|fEAEEE| KH R6.12.1| R9.11.30 3F
50 & EHT thzt 6259 H 2344\ EAEEHE| /KH R6.12.1| R9.11.30 3F
51 [ EHT E=Fis 1062 H 1660\ EFAEEE| KHE R6.12.1| R11.11.30 54
52 & EHT E=Fis 1065 H 1955\ EFEfEHE| KHE R6.12.1| R11.11.30 54
53 & EHT B 1188 H 2830|fEAEEHE| /KH R6.12.1| R11.11.30 54
54 % FHT B 1199 H 3496| FAEEHE| /KH R6.12.1| R11.11.30 54
55 % EHT B 886-1 H 620| EFEEHE| /KHE R6.12.1| R11.11.30 54
56 & EHT B 890-1 H 74| EFREEHE| KHE R6.12.1| R11.11.30 54
57 | EHT B 890-2 H 705\ EFAEMEE| KHE R6.12.1| R11.11.30 54
58 & EHT B 1135 H 2,985\ fFAEEHE| /KH R6.12.1| R11.11.30 54
59 | EHT B 950 H 890| fEAEEHE| /KH R6.12.1| R11.11.30 54
60 |2 EHT #®F 1122-1 H 2487 EfgE b/ R6.12.1| R11.11.30 54
61 | EHT 5 276 H 3101 EfatE b/ R6.12.1| R11.11.30 54
62 |3 X HT = 301 H 2574 EfatE JKH R6.12.1| R11.11.30 54
63 [ HT =] 311 H 3075 EfatE JKH R6.12.1| R11.11.30 54
64 | X HT 5 315 H 3619 EfEte b/ R6.12.1| R11.11.30 54
65 | = X AT 5 274 H 3457| EftE JKH R6.12.1| R16.11.30 105
66 | = X AT 5 294 H 3295 EfHiE JKH R6.12.1| R16.11.30 105
67 | FHT B 313 H 3007| EffE JKH R6.12.1| R16.11.30 104
68 | EHT #B)1 851 H 3086| fEAEEHE| /KH R6.12.1| R9.11.30 3F
69 | = EHT ) 852 H 2769\ fEAEEHE| /KH R6.12.1| R9.11.30 3F
70 [EXHET fid 2416 H 2893 EfatE JKH R6.11.1| R16.10.31 104
71 |EEHT % 2650 H 2,855 EfatE JKH R6.11.1| R16.10.31 104
72 |EXHET fid 27941 H 2,848 EfatE JKH R6.11.1| R16.10.31 104
73 | EHT % 2804 H 1281 Ef&5tE JKH R6.11.1| R16.10.31 104
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